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std stXt= OIAKI & 4,340 4,420 A 80
201 €2l 4,340 4,420 A80
01 At 22/l 4,340 4,420 A 80
OBt =ZH| 3,100
o CLHEtM &A=z OIXKIE FRFA 3,100
-ANRES 7Y 1,500, 000& 1,500
-BE=2 MA 1,600,000 1,600
o=2g+g 840
o Hstd StXt= OIXAE AoARS o
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O= &l 400
o B M B2 OINXY YPEA
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e X3 OIRKA(BX) 4,000 4,000 0
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Al 2,000
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01 &3 240,000 240,000 0
OFSAIY 2Z (A2 g AHHl)
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3,000& 200 600
03 A2 Z Hl 89,200 67,000 22,200
O2g =2 HAZE 22 250,000& ~123] 3,000
OOI3tHI0l A EE (82, thd Mz S)
500,000 1201 & 6,000
OOISHHIOI MEEE(EZAH ME S)
500,000 1201 & 6,000
OOo3talol 324 29 2,200,000& x13] 2,200
OXZEAO0L3t00l 2 3,000,000& x243| 72,000
301 LEPEXF 8,400 8,400 0
09 HALAHIXI &3 8,400 8,400 0
OXZHo3ta0l AEZsEH 243
300,000 x243| 7,200
O2Z A2 =24 2t 3l 100,000& =123/ 1,200
HdoRus XA 56,640 46,440 10,200
201 Let24d] 19,500 16,500 3,000
01 At 22l 19,500 16,500 3,000
OB =+=EH| 19,500
o Hel2dlusE ul & Jis=2d Mz 7
3,000,000& »23| 6,000
o d=4He2aHAISE L StHZES FOt
1,500,000 1,500
o S¥HES NELESMEY NSES 7 &
sEE= 1,500,000 =84 A 12,000
202 O4dl 1,140 1,140 0
01 = LH 4 Hi 1,140 1,140 0
OH2EHusAY NnEe2d & 34
1,140,000 1,140
301 LEMZ 36,000 28,800 7,200
12 JIEBHE4 = 36,000 28,800 7,200
OS2 RSE XIAAY 2AxE
9,000,000 =44 A~ 36,000
HolRins XN (E2X) 36,960 29,400 7,560
< 8,000
Al 28,960
301 LeHBAF 36,960 29,400 7,560
< 8,000
Al 28,960
12 J|EtE &= 36,960 29,400 7,560
OIS NAMS(XNBHL 2 A ¥
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Al 9,750
OF= L Sl BYSASEH X
25,000,000& 25,000
< 10,000
Al 15,000
ANEEdn=s843 XJAY 59,000 28,680 30,320
201 LBt2E| 58,000 28,000 30,000
03 A2 Z Hl 58,000 28,000 30,000
OX=g d=ssdlH W29 28,000,000 28,000
OXgs Z2Z-M0C efs2E = 2F
1,000,000 *301+ & 30,000
202 odl 1,000 680 320
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1,000,000 1,000
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4,600,000,000& 4,600,000
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HE: HADS
Crel: FOIXRIME S (ol @)
SN ED B (3H) - MEAY - BAS Ol &F o4 ﬁlgﬁ HDZ2
02 2224 H| 25,000 30,700 A5,700
OZ2Z222L A 15,000
o0 FUXXHEH 2BR2S 15,000,000& 15,000
OANE &Y S XY 10,000
o FOXXHE AEEHBIRA S
10,000,000 10,000
03 A2 H| 57,000 47,250 9,750
OAI2HH| 57,000
0 SHSES FOXX JIsSLUSIAIS (EMALY)
50,000,000 50,000
o FOUXXEZ O HAW 29
2,000,000& 2,000
o FOXNXRAFE AL 5,000,000& 5,000
202 o4l 1,950 1,950 0
01 2Ll 1,950 1,950 0
OFXIXNEEH SR2FA 1,950,000 1,950
301 et ™M= 224,200 223,700 500
09 HAIAHI X & 2 41,800 42,800 A 1,000
OE=ZFoUNI ST S &It
60,000& 80 13| 4,800
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= THHHA) 37,000,000 37,000
12 JIEtE2 &= 182,400 180,900 1,500
OFUAXNEH T2 24 180,000,000 180,000
OFUNXN/AY dFAstns LA
900,000& 900
O XX 2EAHTH 150,000 1094 1,500
405 KHAHFE S HI 25,000 25,500 A 500
01 XA 2B F S| 25,000 25,500 A500
OFUAXNEEH 2IEE 2 25,000,000 25,000
Mt s2A2H 354,887 319,451 35,436
ZMstga 29 354,887 319,451 35,436
101 e1214| 1,472 1,216 256
04 J|12ZtHIZ22NEES 1,472 1,216 256
OH =0 872,000 872
OF| 4 Ao 600,000& 600
201 et d| 80,740 70,740 10,000
01 AP 2t 2] d| 43,685 33,685 10,000
OBt 2Y| 30,645
o ZMSIE R JI22d9 ARsSE Y
6,000,000& 6,000
0o BMStESZ N XA 200,000 *23| 400
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